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for the candidates to read the
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All questions are compulsory.

Question No. 1 is Multiple Choice
type. Question Nos. 2 to 6 are
Definite Answer type to be
answered in one sentence each.
Question Nos. 7 to 11 are Very
Short Answer type to be answered
in about 50 words each. Question
Nos. 12 to 14 are Short Answer
type to be answered In about
150 words each and Question
Nos. 15 to 17 are Long Answer
type 1o be answered in about
300 words each.

Marks allotted to each quesuon

are given against it
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[ Multiple Choice Type Questions ] ey
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Q@) "SI U YUl HHS AT G T 1. Four options are given in every part of
g ¥, 79 39 T wead ¥ = the following question of which only one
FoaeT 2 ! is correct. Choose the correct option and
, : write it in your answer-book :
i) o g et a) Who among the following is not an
i) Slo THo THHER " Indian sociologist ?
iii) o T@o i)  Auguste Comte
e R i iy S.C.Dube
Iv) ST | . iii) M. N. Srinivas
RIS R: - oK g P e BT | iv) D. N. Majumdar. 1
) wEr s : b) “When a class is somewhat strictly
i) T hereditary, we may call it a caste.”
1) e ST Whose statement is this ?
i) SR 3y iy C.H. Cogle}'
vl o iij D. N. Majumdar
) T amam , i) G.S.Ghurye
69620 iv) Westermark. 1
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C) :-"I"}ilich nf:fhe follt})—lwigg 1Is not under 3 ﬂﬂm foag s & 2 1
shrama Vyavastha : 3.  Whatis Hypergamy ? 1

1)  Brahmacharya Ashrama

3 WERTT &% AR A8 SR % i & |
1) Adult Ashrama ( 9 / JI9A) 1
-

1ii) Vanaprastha Ashrama 4 Eight types ( forms ) of marriage are

~ found in traditional Hindu system.
v) Samnyas Ashrama. 1
Y .m* ( True / False) 1
d} }Uho 1S th.c aulhor ‘(:f, the book, 5 W S EEm ) 1
Cultural Disorganization’ ? i ,
. _ 5. What is the number of Ashramas ? |
i) K. Davis L AT FAY TEE ¥ 2 B ) 1
ii) Iliot and Merille 6. How many Varnas are there ? 1
iij} Cooley [ T g IR0 W9 |
iv} Spencer. 1 [ Very Short Answer Type Questions ]
e) Meaning of O.B.C. is 7. sEEws FEAAA 6 9N e @
i)  Other Backward Classes MET | hitps://www.upboardonline.com 2
i 7. Wnte the four major problems of
i1) Oth f ' .
iii) All Backward Castes q A g A U Tg A Tt | 2
Iv) none of these. 1 _ & Write the two major differences between
[ ffyem BRI PLEE - caste and class. ) 2
[ Definite Answer Type Questions ] g y:{]:.l-ﬁ gfEn # ET PEaD) ﬁ@({ 2
2. T sy 4 =fs d=mm I F 9 Write two functions of joint family. 2
HA € 2 , 10, g | 399 91 GHHd € 2 2
2. At which age does dov an b Westernisation ? 2
man enter in Samn 10. What 0}ou mean | Y : ‘
Ashramg ? YEIS . ST a- goTTE IecA1d ﬁ"m‘r{[ 9}
Jte two ill effects of urbanization. 2
69620 11. Wnrite it
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[ Short Answer Type Questions ]
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12. Describe the impact of Panchayat on

Village community.

4
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13. Define marriage. Describe the aims of

marriage.
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14. “It seems that caste system is weakening

in present time.” Explain.

[ g Tt W |
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[ Long Answer Type Questions ]
15. TR T GER Hegr HrdEH H Hecd Fasd |

HYdl

6
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15. Explain the importance
Welfare Programme in India.
OR

6
of Family
b6

What is social forestry ? Discuss the

objectives of social forestry.
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“Root cause of all social evils is poverty.”

Explain. 6
OR

Explain the changes that are taking
place in the status of working women in
society. 6
‘TS W Uk @Hife §We &) fede
I | 6
AT
ot B weer afnfadl & W W U 4
Framy TefeE | 6

“Dowry system is a social evil.” Explain.
6
OR
Write a short essay on the importance
of co-operative societies in society. 6
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